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AT Part-A.
1 O SF #ifeTe . Evaluate : A log f(x) =log I:l LAMC \)]

f(x)
2 a&rdqaw 3@ FHETAT [T | Write the assumptions for Interpolatlon

3.9 Hehad 9 g BT With usual notation, prove that :
C(HEFDE=2(E-Du (D))=, 2yn+y -
4,719 U9 ST G ffag | '

Write Gauss's Backward interpolation formula.
5. AT FIeT! & A S G foifag |

. Write General quadrature formula for equidistant ordinates..
6&@ Yh:h(l;— I)WW Yh+|_Yh:hEFrQEB€a'% 1
Shbw thafy,, =h(h; 1 )isa s'oluti(‘)n ofthe difference equationy, ,—y,=h"
7. ZqH & 3 UG HIRTT | Define Optimal Solution.
8. e SR U ST Tifead il & |
Every hyperplane isaconvexset.

9. JTgdsar H qiANT Eﬁﬁﬂ[ | Défine Degeneracy
10X ST G & A €9 [ |
Write the standard form of Linear Programmmg Problem. I
qU-q = L 1.9 &SI : Evaluate : AX(cos 2x). IEr/OR
- P ER A g g AR A ]

" Obtain the mlssmg terms 1nthe followmg table
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X R G ) 3 "4‘57'6‘7.”8"
) 1 8 2 e 2 216 343 512

TR I 2. 500 SR T 1 T Ty, 371 e 3 e R 2 -

Apply Central difference formula to obtain y,,, giventhat: ‘
¥2=02707, y,=0.3027,y,~03386,y,=03794. ~  S&/OR
T 7 T B ST Y g Reckin s g @ R ST ST A

'Frpm the Stirling interpolation formula, obtain the following ‘Iresult (upto
third differences) : - '

FOT20y - by
- PRIOL3.E@$R™T: Solve: Yoot 6¥5.+25y,=0. &ar /OR
e e Rl & T X - 3x = 5 = 0 1 arefah T S SR S
T S T 1 Find the real root of the equation x’ — 3x — 5 =0 correct to four
~ places of decimals by Newton Raphson Method.
T8 IV. 4.5 L.P.P. 3 s oty & &t difor -
Solve the following L.P.P. graphically :
DA (Max.): Z=3x,+2x,
: eI (st) 0 x,+x,> 1
X,— 5%, <0
5%,—x, 20
X,—%X,=>-1
X, Tx,<6
: X, <3 ' :
T(and) * x,20, x,20. ' GG /OR
Xy X reeveenneees X, (OGN b EH1 STAYQ T 1 = Wh S Heed & -
2 1 The set of all convex combinations of a finite number of points X1 X,
' veeeeeenns, X, 1S CONvex set. : 8 P
- g@E V.5.F L.P.P. 3 for O SR ST e & s i -
i Determine an initial Basic Feasible solution for the following L.P.P.
T Alpas (Max.) : Z=23%,+2x,+x,+5x,
AT CgRiEE (st) 0 3%, T4x, 5%, 6%, <5
; ' 2x,+6X, +x,+5%,26
1 XX, +5X3+X4=7 D
ddM (and) X, X Xy, X,2 0. ' L
el orer T & &4 1 &t o R €1 A B
. The dual of the dual of a primal problem is the primal problem.
qp-| 1. (1) [ AT : Prove that :
A 1.3 4 1.3.5 s
u‘—-g-A ot 8._16A Mee =g e Apto..

13 =2 1 1 :
i “)H'VZ —Z_AHK+]/’Z+,Z.AZ113+|/1._V' §A3“X+|f2+""‘

ET/OR
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Values of y, are given for all integral values of x from 0 to (n—1). Show ‘
thaty_is capable of expression in the form :

LX y 1 1 - n-1
s n— _n'; y“ 2 +n 1 yn 3 (n-1) ("—1) yf)' i
LX“HLH— AN = ol o ]
2. (1) Br- ’ﬁﬁaﬂwwmﬁrﬁrwwm?ﬁrwﬂﬁml

Evaluate the following integral by Gauss three point quadrative
- formula: 1

Ja+2x) ax.
0

(=) = arierst & Rl gm & s @y, a7 B -
Use Stirling formulato find y,,, given :.

ym 49225, y,=48316,y,,=47236,y..=45926, y,.= 44306.
3. (ar )ﬁrﬂaﬁ?ﬁrﬁmwa%gam

Solve the following difference equation: y,,,— y,,—2y,=h".
() =1 L.P.P. 7 3w &0 303 el Gei e # § & T Find the
optimal solution of the following L.P.P. from among its basic feasible solution
ATRTT (Max.) f(x) = 2x,+ 3x,+ 4x,+ 7x,
gfcrere (s.t.) 2x,+3%,—x, +4x,=8
X,—2x,+6x,—7x,=-=3
TM(and) -~ X,, X, X5, X,20. Yqr/OR
Wqﬁﬁﬁﬁﬁﬁﬁfﬁwm@qlwqcb%snd PIFTT -
Find areal root of the following equation by interative method :
 fx)=x+x'=1=0.
, 4. (a1) Freera- Ax = b%mﬂgﬁﬂaaﬁ%a{qwﬁwqmmmﬂwﬁ%w
- R GEI & 2T 8 | Every extreme point of the convex set of all feasible
solution of the system Ax = b is a basic feasible solution.
 (9) 3R e Ax = b, x >0%WW€HW§@W@W§@
T ﬁrmmam@wﬁ%mﬁmm% '

If the convex set of the feasible solution of Ax.=b, x 20 is a convex
polyhedron then at least one of the extreme points gives an optimal solution,

- 5. (an) L P.p. % fepeierd fafey & et i -
Solve the following L.P.P. by Simplex Method
R (Min) ;. ZEx,H%, |
gfaEee (s.t.). 2x,tx,24

x|+7-).(2'2-7
.E[EIIT(and) Xys %20, ' o B - _ _
(@) f=1 L.P.P. oy 2l S ifTd = : , | \

Find the dual problem of the following L P P
freaa (Min) ¢ 27 X, X, X,

/
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- TR (s.t) X,—3x,+4x, =5
| | 2%,-2x, <3
. 2K, —X, 25 |
T (and) . Xy, X,20.

x, 7 ¥ oftrafe 2 | X,is unrestricated insign. -
T.3H. = hDiffe_rentia_lEquations IIPnap%r | M. M. 75
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